
Subtracting up to 1000 without carrying (H - set 2)
CHALLENGE

Name:

Time: Score: /

701) 4400− 3400 = 711) 2554− 1441 =

702) 2644− 2312 = 712) 8618− 5112 =

703) 9538− 3102 = 713) 3611− 3310 =

704) 5012− 5001 = 714) 3788− 2761 =

705) 6893− 6010 = 715) 5488− 253 =

706) 6438− 2428 = 716) 7859− 351 =

707) 1802− 1301 = 717) 3086− 26 =

708) 9406− 7005 = 718) 7484− 5183 =

709) 8661− 2020 = 719) 4641− 120 =

710) 9926− 9216 = 720) 8427− 114 =

Mathematics: Subtraction - Level 5 - Horizontal - Set 2 37 © workulum.com

https://www.workulum.com

